~1

C ' —o/w(; o gr! _\m 0%;3){/5:\" {Jo!.s _9&5075/:.;7’ /f/

>
P u ™) —ﬁ)i o2 | m 0% 3 X/5z><jc ZJO’J .511:9533
| A T
:/\IOA 09" 3 b 05/3”,13x/52>/v{ ZJ i /onc/u/
rv P ! | __0/10(; o9t m O 3/7':3)(/5,3 C chj:'zz jajm_s/u-
S ok 3x/5* o tengr Ul elhs,
BQZ ‘i\ [ 5 oL | modanritst s ) elelavel
ﬁg\;\\i L B R e CU =N Z vel
‘q?g g —01/0: opyrc‘i 'm o % 3x/57 :C}( Zjai-b éulr %wol"t/a/{
‘%\; :a\i I)QOA NI .rrr 0 5 yxs5¢ €3¢ {]o’:b ancld  aromnt
N N 2
ﬁé)\‘g‘&}:‘i _0{0‘: o210 |m °,.%/3' MELES €3¢ {]o:b slofur
| g‘g g ’)r*oA G_f/r” o 98 Bx A5t ¢ Zja_., elel s
| IS Stz |m o 78" 3x/52 e gc,,j,gg /4 .
B PP VA %'iwﬁkﬁfc-ﬂ:j o yrhecys
)
| S 7 o 14 |m o g8 3445° ] /éwaféaulé '
__47?5%0__..._0/"5: I mo %: 3x/5% € Z/afé ri5
._____ozofcgrrs m o 75" 3 xA5 e ljos »is
u/‘)ko-——-————-—-o/( y
] ﬁg{ 10A © van ?.la/:/c_j 4 %ﬂ
b
¢l
| 74
| /N~ 380V
I
e/nlinumynd

rls

HRAUNBRUN 20 ,

verk n
raflogn siov | 3/3
¢ ml
ris ., einlinumynd 7 %0
dags &t '8/
= G UDMONDUR=GEIRIONS SO == * 4aJ

= rafmagnetrembte e 0230 —— =  _




